

PROPOSAL

Platte Purchase Middle School Phase I

Fre3dom Interiors 4000 Washington Street Kansas City, MO 64111 Phone: 816-265-1110 http://fre3dom.net PRICING VALID FOR 30 DAYS

DATE 2/7/2023
PROJECT LEAD Tyler Bosley
PROJECT MANAGER Jesse DeWitt
DESIGNER Karsen Odle
CUSTOMER Platte Purchase
Middle School

SOLD TO: Platte Purchase Middle School

9400 N Platte Purchase Kansas City, MO 64155 SHIP TO: Platte Purchase Middle School

9400 N Platte Purchase Kansas City, MO 64155

Attn: Devin Doll

Phone:

Email: dolld@platteco.k12.mo.us

Attn: Devin Doll

Phone:

Email: dolld@platteco.k12.mo.us

Contract:

LINE#	PART#	PART DESCRIPTION	TAG	QTY	SELL\$	EXT SELL \$
GENEF	RAL CLASSROOM					
D1						
1	UNET7362-EJA	Plymouth UNE-T Junior Height Leg Desk	D1	200	\$167.01	\$33,402.00
	L	Top Finish UNSELECTED Edge Band Option Lotz Armor Edge Color UNSELECTED Frame Color Option Smooth Silver				

Eage Band Option
Lotz Armor Eage Color
Frame Color Option
Glide & Caster Options
BackPack Hook Option
Backpack Hook Color
Under Desk Option
Under Desk Option
Under Desk Option
Lotz Armor Eage Color
----- UNSELECTED ----Smooth Silver
1.375†Non-marring Glides
BackPack Hook
Smooth Silver
No Selection

D2

2

UNET7071-EJA UNE-T 2-Student Tables, Junior Adjustable Legs, Pre- D2 40 \$278.96 \$11,158.40

Kindergarten - 2nd Grade, Lotz AEâ,¢ Top, 24D x 60L x 20.25-32.25H (2 BACKPACK HOOKS PER TABLE)

Top Finish Standard HPL
Standard HPL Vertical Grain
Standard HPL Vertical Grain ------ UNSELECTED -----Edge Banding Option Lotz Armor Edge Band

Lotz Armor Edge Color
Legs Color Options
Under Desk Option
BackPack Hook Option
Caster & Glide Options

Lotz Armor Edge Color
Smooth Silver
No Selection
BackPack Hook
Dual wheel soft tread lock

Dual wheel soft tread locking casters - Per table (raises height by

Per Grommet hole 2.25â€)
No Selection

LINE#	PART#	PART DESCRIPTION	TAG	QTY	SELL\$	EXT SELL \$
C2						
3	7424	24" Inspiration Cafe Stool	C2	80	\$122.59	\$9,807.20
C1						
4	718	17 3/4" Inspiration Value Chair	C1	200	\$60.59	\$12,118.00
D4						
5	91289-XXXX-XX Hierard	Mobile Teacher Workstation II Top Laminate UNSELECTED Edgeband Hierarchy Edgeband Colors chy Edgeband Colors UNSELECTED	D4	10	\$625.88	\$6,258.80
6	91290	Optional Modesty Panel 10.3"H x 40"W	D4	10	\$47.06	\$470.60
C6						
7		Select Control Type Select Arm Type t Caster/Glide Option Select Upholstery Upholstery Select Lumbar Select Lumbar Select Lumbar Select Ease Select Frame Color Select Frame Color Limited Synchro Tilt Height and Width Adj. Arm Hard Caster 4-Way Black III UPHOLSTERY Moxie Tangerine Black Adjustable Lumbar Standard Base Undecided FRAME Option	C6	10	\$302.62	\$3,026.20
01						
8	S	Fabric Seat Finish Select Abbey Color Fabric Side Finish Select Abbey Color Fabric Side Finish Select Abbey Color Fabric Side Finish Select Abbey Color Embroidery Option CAL 133 Option CAL 133 Fire Retardant	O1	0	\$162.35	\$0.00

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
O2							
9	F005-30X(11-21)-0	30"Round Ottoman	18"H with Glides	O2	0	\$575.29	\$0.00
	Select Top Type Select Laminate Top Finish Fabric Seat Finish Select Grade-1 Finish Select Abbey Color Fabric Side Finish Select Grade-1 Finish Select Grade-1 Finish Select Grade-1 Finish Select Grade-1 Finish Select Abbey Color Embroidery Option Select Seat Height CAL 133 Option Laminate Top UNSELECTED UNSELECTED UNSELECTED VNSELECTED UNSELECTED No Embroidery Select Height 15-18 No CAL 133 Fire Retardant						
S4							
10	CRB2400-363622	Split Drawers Over	wer Base Cabinet, Mobile w/Casters, Top- Double Doors, 1 Adj. Shelf, 36"W x 22"D x DLT LOCKS PER CABINET)	S4	10	\$958.33	\$9,583.30
		Edge Band Selection Lock Option	Classic Finish UNSELECTED UNSELECTED Lock (per localtion) No Magnet Docking				
S1							
11	RT4110-248422		ne Tall Cabinets, Single Door Wardrobe, Left/ ed Shelf, 1 Clothing Rod, Disc Tumbler Lock, 84H x 22D	S1	10	\$742.07	\$7,420.70
	Standar	Classic Finish TFL Finish	Classic Finish Classic Finish Vertical Grain UNSELECTED				
			SUBTOTAL FOR	GENERAL CLASSRO	ОМ:		\$93,245.20
SMALL	CLASSROOM						
D1							
12	UNET7362-EJA	Plymouth UNE-T Ju	unior Height Leg Desk	D1	24	\$167.01	\$4,008.24

SMA	SMALL CLASSROOM										
D1											
12	UNET7362-EJA Plymouth UNE-T Junior Height Leg Desk	D1	24	\$167.01	\$4,008.24						
	Top Finish Edge Band Option Lotz Armor Edge Color Frame Color Option Glide & Caster Options BackPack Hook Option Backpack Hook Color Under Desk Option Top Finish Lotz Armor Edge Color Lotz Armor Edge Color Smooth Silver 1.375†Non-marring Glides BackPack Hook Smooth Silver No Selection										

LINE#	PART # PART DE	SCRIPTION	TAG	QTY	SELL\$	EXT SELL \$
D2						
13	Kindergar	Student Tables, Junior Adjustable Legs, Pre- ten - 2nd Grade, Lotz AEâ"¢ Top, 24D x 60L x 25H (2 BACKPACK HOOKS PER TABLE)	D2	6	\$278.96	\$1,673.76
	Stand Standard HPL Verti Edge Bandir Lotz Armor Ed Legs Color Under Des BackPack Hod Caster & Glide	op Finish Standard HPL dard HPL Vertical Grain cal Grain UNSELECTED g Option Lotz Armor Edge Band ge Color UNSELECTED r Options Smooth Silver sk Option No Selection bk Option BackPack Hook e Options Dual wheel soft tread locking casters - Per tab met hole 2.25â€) No Selection	le (raises he	eight by		
C2						
14	7424 24" Inspir	ation Cafe Stool	C2	12	\$122.59	\$1,471.08
C1						
15	718 17 3/4" In	spiration Value Chair	C1	24	\$60.59	\$1,454.16
D4						
16	91289-XXXX-XX Mobile Te	eacher Workstation II	D4	3	\$625.88	\$1,877.64
	Ė	Laminate UNSELECTED dgeband Hierarchy Edgeband Colors dd Colors UNSELECTED				
17	91290 Optional I	Modesty Panel 10.3"H x 40"W	D4	3	\$47.06	\$141.18
C6						
18	HITSM Ignition 2	Task Low-back Stool, ilira back	C6	3	\$302.62	\$907.86
	Select A Select Caster/Glic Select Me Select U Upholstery S Selec Sel	trol Type Limited Synchro Tilt Arm Type Height and Width Adj. Arm He Option Hard Caster He Color Hard Caster HI UPHOLSTERY Selection Moxie Moxie Tangerine t Lumbar Black Adjustable Lumbar ect Base me Color Undecided FRAME Option				

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
S4							
19		Split Drawers Over 35.5"H (3 DEADBO Casebody Finish Standard TFL Edge Band Selection	UNSELECTED UNSELECTED Lock (per localtion)	\$4	3	\$958.33	\$2,874.99
S1							
20	RT4110-248422 Standard	Right Hinged, 1 Fix Left Hinged, 24W x Finish Colors Classic Finish TFL Finish	pe Tall Cabinets, Single Door Wardrobe, Left/ ed Shelf, 1 Clothing Rod, Disc Tumbler Lock, 84H x 22D Classic Finish Classic Finish Vertical Grain UNSELECTED	S1	3	\$742.07	\$2,226.21
			SUBTOTAL FOR S	SMALL CLASSRO	OM:		\$16,635.12
SMALL	SPED						
D1							
21	Gli Ba	Top Finish Edge Band Option tz Armor Edge Color Frame Color Option	1.375†Non-marring Glides BackPack Hook Smooth Silver	D1	18	\$167.01	\$3,006.18
D2							
22	E Lo Ba	Kindergarten - 2nd 20.25-32.25H (2 B Top Finish Standard HPL d HPL Vertical Grain Edge Banding Option tz Armor Edge Color Legs Color Options Under Desk Option ckPack Hook Option	Smooth Silver No Selection BackPack Hook Dual wheel soft tread locking casters - Per tabl	D2 le (raises he	6 eight by	\$278.96	\$1,673.76

LINE#	PART#	PART DESCRIPTION	TAG	QTY	SELL\$	EXT SELL \$
C2						
23	7424	24" Inspiration Cafe Stool	C2	12	\$122.59	\$1,471.08
C1						
24	718	17 3/4" Inspiration Value Chair	C1	18	\$60.59	\$1,090.62
D4						
25	91289-XXXX-XX Hierard	Mobile Teacher Workstation II Top Laminate UNSELECTED Edgeband Hierarchy Edgeband Colors chy Edgeband Colors UNSELECTED	D4	3	\$625.88	\$1,877.64
26	91290	Optional Modesty Panel 10.3"H x 40"W	D4	3	\$47.06	\$141.18
C6						
27		Select Control Type Select Arm Type t Caster/Glide Option Select Upholstery Upholstery Select Lumbar Select Lumbar Select Lumbar Select Frame Color Select Frame Color Select Frame Select Stool, ilira back Limited Synchro Tilt Height and Width Adj. Arm Hard Caster 4-Way Black III UPHOLSTERY Moxie Tangerine Black Adjustable Lumbar Standard Base Undecided FRAME Option	C6	3	\$302.62	\$907.86
01						
28	s	Fabric Seat Finish Grade-1 Select Grade-1 Finish Select Abbey Color Fabric Side Finish Select Abbey Color Embroidery Option CAL 133 Option Select Above CAL 133 Option Select Research Select Above CAL 133 Option CAL 133 Fire Retardant	O1	0	\$162.35	\$0.00

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
O2							
29	F005-30X(11-21)-0	G 30"Round Ottoman	18"H with Glides	O2	0	\$575.29	\$0.00
	S	Fabric Seat Finish Select Grade-1 Finish Select Abbey Color Fabric Side Finish Select Grade-1 Finish Select Abbey Color Embroidery Option Select Seat Height	UNSELECTED Grade-1 UNSELECTED Grade-1 UNSELECTED UNSELECTED				
S4							
30	CRB2400-363622	Split Drawers Over	wer Base Cabinet, Mobile w/Casters, Top- Double Doors, 1 Adj. Shelf, 36"W x 22"D x DLT LOCKS PER CABINET)	S4	0	\$958.33	\$0.00
		Edge Band Selection	UNSELECTED UNSELECTED Lock (per localtion)				
S1							
31	RT4110-248422		pe Tall Cabinets, Single Door Wardrobe, Left/ ed Shelf, 1 Clothing Rod, Disc Tumbler Lock, 84H x 22D	S1	3	\$742.07	\$2,226.21
	Standar	Classic Finish TFL Finish	Classic Finish Classic Finish Vertical Grain UNSELECTED				
			SUBTOTAL FOR:	SMALL SP	ED:		\$12,394.53
SCIENC	CE ROOMS						
	DE NOOMS						
T13	ED07000 11/21/	EDIO T. L. L. L.	ETHL D T . COD . COL . COL	T10	40	# 000 70	#40.445.00
32	EPC7082-WFX	EPIC Table, Lotz A	E™ Laminate Rectangle Top, 30D x 60L x 36H	T13	18	\$689.76	\$12,415.68
	Additional EPIC	Standard HPL rd HPL Vertical Grain	UNSELECTED Additional EPIC Frame Colors ORANGE Black				
C1							
33	718	17 3/4" Inspiration \	Value Chair	C1	72	\$60.59	\$4,362.48

LINE#	PART#	PART DESCRIPT	ON	TAG	QTY	SELL \$	EXT SELL \$
D7							
34	91198	Avid Podium 43" - 4	9"H x 19.8"W x 20.8"D	D7	3	\$540.00	\$1,620.00
	ľ	Materials & Finishes Laminates Standard HPL - Laminates Standard Edgeband Colors	UNSELECTED				
C6							
35	HITSM	Ignition 2 Task Low	back Stool, ilira back	C6	3	\$302.62	\$907.86
		Select Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar Select Base	Height and Width Adj. Arm Hard Caster				

	SUBTOTAL FO	R SCIENCE F		\$19,306.02	
MAKE	ERSPACE				
Т8					
36	HEMKREND42-SP Build MakerspaceTbl EndPnl for HangingAccessories Standing	Т8	3	\$210.78	\$632.34
	Select Paint Grade 1 Select Grade 1 Paint UNSELECTED				
37	HEMKR426042BB Build Makerspace Table 42x60 Standing w/ BB Top	Т8	3	\$970.78	\$2,912.34
	Select Grommet Select Wood Top Color Select Caster Select Paint Select Grade 3 Paint No Grommets Birch Butcherblock Casters Grade 3 UNSELECTED				
38	HFMBIN6 Tray Kit 6"h 2 bins and 4 rails	Т8	6	\$40.38	\$242.28
39	HHABCASTER Adjustable Height Base - Caster Add-On Kit	Т8	3	\$39.46	\$118.38

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
C11							
40	HE4LSTL30	Build Cafe Height 4	-Leg Stool	C11	12	\$84.25	\$1,011.00
		Select Paint Option Select Grade 1 Paint	P1 Paint Opts UNSELECTED				
			SUBTOTAL FOR I	MAKERSF	PACE:		\$4,916.34
CAFETI	ERIA						
C9							
41	6631 C	Seat & Back, Std S Glides, Stacks 5 Hi Duet Plastic Finish {20} Duet Plastic Finish {F1} Duet Frame Finish {45}	F-Chrome Frame [CH] M-(STD) Clear Glides	C9	9	\$190.13	\$1,711.17
C8							
42	6621 C	Chrome Frame, Sto Floor, 40 High on D Duet Plastic Finish {20}	UNSELECTED F-Chrome Frame [CH] M-(STD) Clear Glides	C8	121	\$104.03	\$12,587.63
			SUBTOTAL FOR	CAFETER	IA:		\$14,298.80
PE OFF	EICES						
D8	TOES						
	0.1==0.1000					Ac-1-:	*****
43	91778-XXX	K-XX 30x60 Double Pede Top Laminate		D8	2	\$931.76	\$1,863.52

Top Laminate Asian Night
Edgeband Hierarchy Edgeband Colors
Hierarchy Edgeband Colors

LINE#	PART#	PART DESCRIPTI	PART DESCRIPTION		QTY	SELL\$	EXT SELL \$
C3							
44	HIWMM	Ignition 2 Task Mid-	C3	2	\$281.47	\$562.94	
		Select Arm Type Select Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar	4-Way Black III UPHOLSTERY Moxie UNSELECTED Black Adjustable Lumbar Standard Base				

			SUBTOTA	AL FOR PE OFFICES	S:		\$2,426.46
BAND	/VOCAL ROOMS						
D8							
45	91778-XXXX-X	(X 30x60 Double Pede	estal	D8	3	\$931.76	\$2,795.28
	Hie		Asian Night Hierarchy Edgeband Colors UNSELECTED				
C3							
46	HIWMM	Ignition 2 Task Mid-	back, ilira back	C3	3	\$281.47	\$844.41
	Se	Select Arm Type elect Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar	4-Way Black III UPHOLSTERY Moxie UNSELECTED Black Adjustable Lumbar Standard Base				

		Select base Select Frame Color	Standard Base Black					
				SUBTOTA	L FOR BAND/VO ROOMS:	CAL		\$3,639.69
PLTW	/ ART							
C11								
47	HE4LSTL30	Build Cafe Height 4-	Leg Stool		C11	36	\$91.04	\$3,277.44
		Select Paint Option Select Grade 1 Paint						

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
C1							
48	718	17 3/4" Inspiration \	/alue Chair	C1	24	\$60.59	\$1,454.16
T2							
49	Additional EPI	29.36H Top Finish Standard HPL dard HPL Vertical Grain	UNSELECTED Additional EPIC Frame Colors ORANGE	Т2	6	\$659.18	\$3,955.08
T7							
50	Sto	Totes, 4 Compartments Top Selection Std. HPL Top Finish Top Edge Selection Casebody Finish d. TFL Casebody Finish	UNSELECTED UNSELECTED Classic Finish UNSELECTED UNSELECTED	Т7	6	\$1,716.61	\$10,299.66
D4							
51	91289-XXXX-XX	Top Laminate Edgeband	rkstation II UNSELECTED Hierarchy Edgeband Colors UNSELECTED	D4	2	\$625.88	\$1,251.76
52	91290	Optional Modesty P	anel 10.3"H x 40"W	D4	2	\$47.06	\$94.12

LINE#	PART#	PART DESCRIPT	ON		TAG	QTY	SELL\$	EXT SELL \$
C6								
53	HITSM	Ignition 2 Task Low-back Stool, ilira back			C6	2	\$302.62	\$605.24
		Select Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar Select Base	Height and Width Adj. Arm Hard Caster 4-Way Black III UPHOLSTERY					

			SUBTOTAL FOR P	LTW / AR	RT:	\$20,937.46	
PLTW							
T16							
54	Ba I Connecting	Top Finish Standard HPL Edge Band Option otz Armor Edge Color Frame Colors Premium Colors Casters Selection Grommet Option Modesty Panel ackPack Hook Option Backpack Hook Color Magnets for HangOut	No Selection 2" BackPack Hook UNSELECTED	T16	6	\$627.98	\$3,767.88
C1							
55	718	17 3/4" Inspiration \	/alue Chair	C1	24	\$60.59	\$1,454.16
D4							
56	91289-XXXX-XX Hieran	Edgeband	rkstation II UNSELECTED Hierarchy Edgeband Colors UNSELECTED	D4	1	\$625.88	\$625.88
57	91290	Optional Modesty P	anel 10.3"H x 40"W	D4	1	\$47.06	\$47.06

LINE#	PART#	PART DESCRIPT	ON	TA	G QTY	SELL\$	EXT SELL \$
C6							
58	HITSM	Ignition 2 Task Low-back Stool, ilira back			5 1	\$302.62	\$302.62
		Select Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar Select Base	Height and Width Adj. Arm Hard Caster 4-Way Black III UPHOLSTERY				

	SUBTOTAL FOR PLTW:						\$6,197.60	
SPED	BEHAVIOR & FUNCT	ΓΙΟΝ						
D4								
59	91289-XXXX-XX	Mobile Teacher Wo	rkstation II	D4	0	\$625.88	\$0.00	
	Hierard	['] Edgeband	UNSELECTED Hierarchy Edgeband Colors UNSELECTED					
60	91290	Optional Modesty P	anel 10.3"H x 40"W	D4	0	\$47.06	\$0.00	
C6								
61	HITSM	Ignition 2 Task Low	-back Stool, ilira back	C6	0	\$302.62	\$0.00	
		t Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar Select Base	Height and Width Adj. Arm Hard Caster 4-Way Black III UPHOLSTERY					
S4								
62		Split Drawers Over 35.5"H Casebody Finish Standard TFL Edge Band Selection	UNSELECTED UNSELECTED Lock (per localtion)	S4	0	\$919.79	\$0.00	

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
S1							
63	RT4110-248422 REplay® Wardrobe Tall Cabinets, Single Door Wardrobe, Left/ Right Hinged, 1 Fixed Shelf, 1 Clothing Rod, Disc Tumbler Lock, Left Hinged, 24W x 84H x 22D				0	\$742.07	\$0.00
	Standa	Classic Finish TFL Finish	Classic Finish Classic Finish Vertical Grain UNSELECTED				

	SUBTOTAL FOR SPED BEHAVIOR & FUNCTION:						
GIFTE	CD CLASSROOM						
D2							
64	Lotz AEâ"¢ Top,∶ Top Finis	Tables, Adjustable Legs, 3rd Grade and Up, 24D x 60L x 27.25-39.25H h Standard HPL	D2	6	\$278.96	\$1,673.76	
	Standard HPL Vertical Grai Edge Banding Optio Lotz Armor Edge Colo Legs Color Option Under Desk Optio BackPack Hook Optio	n No Selection n BackPack Hook s Dual wheel soft tread locking casters - Per ta	able (raises he	ight by			
C1							
65	718 17 3/4" Inspiration	n Value Chair	C1	12	\$60.59	\$727.08	
01							
66	FK501-17X15X18-Z Log Ottoman 17"	x 15"W x 18"H with - Zippered	O1	6	\$162.35	\$974.10	
	Select Abbey Colo Fabric Side Finis Select Grade-1 Finis Select Abbey Colo Embroidery Optio	h UNSELECTED r UNSELECTED					

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
O2							
67	F005-30X(11-21)-	G 30"Round Ottoman	18"H with Glides	02	1	\$575.29	\$575.29
	9	Fabric Seat Finish Select Grade-1 Finish Select Abbey Color Fabric Side Finish Select Grade-1 Finish Select Abbey Color Embroidery Option Select Seat Height	UNSELECTED Grade-1 UNSELECTED Grade-1 UNSELECTED UNSELECTED				
D4							
68	91289-XXXX-XX	Mobile Teacher Wo	rkstation II	D4	1	\$625.88	\$625.88
	Hieran	Edgeband	UNSELECTED Hierarchy Edgeband Colors UNSELECTED				
69	91290	Optional Modesty P	anel 10.3"H x 40"W	D4	1	\$47.06	\$47.06
C6							
70	HITSM	Ignition 2 Task Low	-back Stool, ilira back	C6	1	\$302.62	\$302.62
		Select Control Type Select Arm Type ct Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar Select Base	Limited Synchro Tilt Height and Width Adj. Arm Hard Caster 4-Way Black III UPHOLSTERY				
S4							
71		Split Drawers Over 35.5"H Casebody Finish Standard TFL Edge Band Selection	UNSELECTED UNSELECTED Lock (per localtion)	S4	0	\$919.79	\$0.00

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
S1							
72	RT4110-248422	, ,	ne Tall Cabinets, Single Door Wardrobe, Left/ ed Shelf, 1 Clothing Rod, Disc Tumbler Lock, 84H x 22D	S1	1	\$742.07	\$742.07
	Standa	Classic Finish TFL Finish	Classic Finish Classic Finish Vertical Grain UNSELECTED				

			SUBTOTA	SUBTOTAL FOR GIFTED CLASSROOM:						
GREE	EN ROOM A12	27								
C6										
73	HITSM	Ignition 2 Task Low	r-back Stool, ilira back	C6	2	\$302.62	\$605.24			
		Select Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar Select Base	Height and Width Adj. Arm Hard Caster 4-Way Black III UPHOLSTERY							

			SUBTOTAL FOR GREEN RO A127:	ОМ		\$605.24
FLEX	THINK TANK RO	UND (3)				
T12						
74	HTFXL29	Preside 29.5H X-Base for 48 & 60 Tops	T12	3	\$242.47	\$727.41
		Paint Selection P1 Paint Opts Select Grade 1 Paint Undecided PAINT Option	า			
75	HTLD60	Preside 60 Round Top	T12	3	\$257.65	\$772.95
		Edge Selection 2mm Edgeband Select Edge Finish UNSELECTED	-			

Select Edge Fillsh
Select Grommet
Laminate Top Selection
Select Grade 1 Laminate Finish
Undecided LAMINATE Option

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
C13							
76	HIGS6	Ignition Guest/Multi	-Purpose Chair Four-Leg Stacking	C13	12	\$250.26	\$3,003.12
		Select Upholstery Upholstery Selection Moxie	Nylon Glide 4-Way Black III UPHOLSTERY				
			SUBTOTAL F	OR FLEX THIN ROUND (3	IK TANK):		\$4,503.48
HILIDDI	E ROOM						
	E ROOM						
T17							
77	HTLC4296	SLCTHP Presd 42Wx96L Se	at HT pwrd Collb Tbl	T17	1	\$917.21	\$917.21
		elect Grade 1 Laminate Finish Select Base Laminate elect Grade 1 Laminate Finish	No Grommets Grd L1 Standard Laminates Undecided LAMINATE Option Grd L1 Standard Laminates Undecided LAMINATE Option Undecided EDGE Option				
C17							
78	731	Zee stackable chair	on a 4-leg base.	C17	6	\$216.94	\$1,301.64
	D How do y	Select your chair color. Select your frame finish. o you want to add upholstery? ou want to receive your chair? Is this a single chair order?	No. Ships fully assembled (standard).	ed.			

	SUBTOTAL FOR HUDDLE ROOM:			\$2,218.85			
LARG	GE FLEX (3)						
D7							
79	91198	Avid Podium 43" - 49"H x 1	9.8"W x 20.8"D	D7	0	\$540.00	\$0.00
	٨	Materials & Finishes Laminates Standard HPL - Laminates Standard Edgeband Colors U	INSELECTED				

LINE#	PART # PART DESCRIPT	TION	TAG	QTY	SELL\$	EXT SELL \$
D1						
80	Top Finish Edge Band Option Lotz Armor Edge Color Frame Color Option	1.375†Non-marring Glides BackPack Hook Smooth Silver	D1	0	\$167.01	\$0.00
0.1						
01						
81	Select Abbey Color Fabric Side Finish Select Grade-1 Finish Select Abbey Color Embroidery Option	Grade-1 UNSELECTED Grade-1 UNSELECTED UNSELECTED	01	0	\$162.35	\$0.00
T10						
82	Select Grommet Laminate Top Selection Select Grade 1 Laminate Finish	Gr L1 Standard Laminates Undecided LAMINATE Option Undecided EDGE Option Gr L1 Standard Laminates	Т10	0	\$611.47	\$0.00
C1						
83	718 17 3/4" Inspiration	Value Chair	C1	0	\$60.59	\$0.00
C5						
84	Select Abbey Color Fabric Seat Finish Select Grade-1 Finish Select Abbey Color Embroidery Option	Grade-1 UNSELECTED UNSELECTED Grade-1 UNSELECTED	C5	0	\$1,279.41	\$0.00

LINE#	PART#	PART DESCRIPT	ON	TAG	QTY	SELL\$	EXT SELL \$
T1							
85	HCWPT	15" x 17" Personal	「able	T1	0	\$153.42	\$0.00
		Select Grade 1 Laminate Finish Select Edgeband Color Paint Grade Options	Undecided EDGE Option				
			SUBTOTAL FOR	RLARGE FLI	EX (3):		\$0.00
FLEX R	OOM BUL	.LET (3)					
T11							
86	HTLMT4	1272HFR Preside 42x72 Stdn	g Team Touchdown Tbl w/Footring	T11	3	\$1,120.94	\$3,362.82
		Select Grade 1 Laminate Finish	Gr L1 Standard Laminates Undecided LAMINATE Option Undecided EDGE Option Gr L1 Standard Laminates Undecided LAMINATE Option P1 Paint Opts				
C15							
87	751	Zee bar stool on a 4	-leg base.	C15	15	\$349.65	\$5,244.75
		Select your frame finish. Do you want to add upholstery? you want to receive your chair?	UNSELECTED UNSELECTED No. Ships fully assembled (standard). No, more than 1 of this chair will be ordered.				
			SUBTOTAL FOR	R FLEX ROO BULLET (3			\$8,607.57
BANDA	/OCAL ST	ORAGE					
S6	AUGAL OT	OTMGE					
88		Music Library Syste Required)	m, 7 Shelf, RH Access 16Wx93H (Assembly	S6	0	\$2,061.53	\$0.00
89		Music Library Top C	Closure Panel, 4 Unit	S6	0	\$110.65	\$0.00

LINE#	PART#	PART DESCRIPTION	TAG	QTY	SELL \$	EXT SELL \$
90		Music Library End Cover Panel	S6	0	\$151.41	\$0.00

		SUBTOTAL FORE	BAND/VOC STORAGE			\$0.00
MEDIA	A CENTER					
S2						
91	4501-142-212	Patriot Series Stationary- Single Sided Wall Shelving. Starter-Cont	S2	2	\$628.24	\$1,256.48
92	4502-142-212	Patriot Series Stationary- Single Sided Wall Shelving. Adder-Cont Top	S2	5	\$505.88	\$2,529.40
S3						
93	4583-137-113	Patriot Series - Hidden Caster – Non-Radiused Units – Flat Wood Shelves	S3	10	\$962.35	\$9,623.50
D6						
94	MCD- DBTL-1824-24	Depressible Platform Book Truck, 18"D x 24.25"W x 24"H	D6	1	\$1,332.71	\$1,332.71
95	ND-40BR-MOB	Nomad Book Return, 30"D x 40"W x 29"H, Mobile	D6	1	\$1,765.65	\$1,765.65
96	ND-75DL-MOB	Nomad Desk, TRX Top Left, 24"D x 75"W x 29"/35"H, Mobile -	D6	1	\$3,838.12	\$3,838.12
97	ND-75DR-MOB	Nomad Desk, TRX top right, 24"D x 75"W x 29"/35"H, Mobile	D6	1	\$3,838.12	\$3,838.12

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
01							
98	FK501-17X	15X18-Z Log Ottoman 17"L x	x 15"W x 18"H with - Zippered	01	6	\$162.35	\$974.10
		Select Abbey Color Fabric Side Finish Select Grade-1 Finish Select Abbey Color Embroidery Option	UNSELECTED UNSELECTED Grade-1 UNSELECTED UNSELECTED				
M1							
99	KIO-TBL-56 S-C	618-29- KIO Straight Seated	d Height Table (56"W x 18"D x 29"H, Casters)	M1	3	\$2,008.00	\$6,024.00
			To Be Determined To Be Determined				
C13							
100	HIGS6	Ignition Guest/Multi	-Purpose Chair Four-Leg Stacking	C13	16	\$204.36	\$3,269.76
		Select Upholstery Upholstery Selection					
C3							
101	HIWMM	Ignition 2 Task Mid	-back, ilira back	C3	1	\$281.47	\$281.47
		Select Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar	Height and Width Adj. Arm Hard Caster 4-Way Black III UPHOLSTERY Moxie UNSELECTED Black Adjustable Lumbar Standard Base				

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
O2							
102	F005-30X(11-21)-G 30"Round Ottoman	18"H with Glides	O2	6	\$575.29	\$3,451.74
		Select Abbey Color Fabric Side Finish Select Grade-1 Finish Select Abbey Color Embroidery Option Select Seat Height	UNSELECTED Grade-1 UNSELECTED Grade-1 UNSELECTED UNSELECTED				
C14							
103	HICS7	Ignition Cafe Heigh	t Stool 4-leg Frame	C14	20	\$290.47	\$5,809.40
		Select Upholstery Upholstery Selection	Armless Nylon Glide Undecided BACK Option III UPHOLSTERY Undecided FABRIC Option Undecided FRAME Option				
T1							
104	HCWPT	15" x 17" Personal ⁻	Table	T1	0	\$153.42	\$0.00
	Se	elect Grade 1 Laminate Finish Select Edgeband Color Paint Grade Options	Grd L1 Standard Laminate Undecided LAMINATE Option Undecided EDGE Option P1 Paint Opts Undecided PAINT Option				
C10							
105	F119-22X3	31X35-Z Rock'n Roller XL 22	2"L x 31"W x 35"H	C10	10	\$591.18	\$5,911.80
		Select Abbey Color Fabric Back Finish Select Grade-1 Finish Select Abbey Color Embroidery Option	UNSELECTED Grade-1 UNSELECTED UNSELECTED				
M2							
106	KIO-TBL-50 S-C	618-36- KIO Straight Counte	er Height Table (56"W x 18"D x 36"H, Casters)	M2	3	\$2,262.59	\$6,787.77
			To Be Determined To Be Determined				

LINE#	PART # PART DESCRIPT	TION	TAG	QTY	SELL\$	EXT SELL \$
D2						
107	Kindergarten - 2nd 20.25-32.25H Top Finish Standard HPL Standard HPL Vertical Grain Edge Banding Option Lotz Armor Edge Color Legs Color Options Under Desk Option BackPack Hook Option	Lotz Armor Edge Band UNSELECTED Smooth Silver No Selection BackPack Hook Dual wheel soft tread locking casters - Per table	D2 (raises he	8 eight by	\$278.96	\$2,231.68
C5						
108	Select Abbey Color Fabric Seat Finish Select Grade-1 Finish Select Abbey Color Embroidery Option	Grade-1 UNSELECTED Grade-1 UNSELECTED Grade-1 UNSELECTED	C5	4	\$1,279.41	\$5,117.64
M1						
109	Select Abbey Color Fabric Side Finish Select Grade-1 Finish Select Abbey Color Embroidery Option	Fabric Top Grade-1 UNSELECTED Grade-1 UNSELECTED Grade-1 UNSELECTED	M1	1	\$465.88	\$465.88
M2						
110	Select Abbey Color Fabric Side Finish Select Grade-1 Finish Select Abbey Color Embroidery Option	Fabric Top Grade-1 UNSELECTED Grade-1 UNSELECTED Grade-1 UNSELECTED	M2	1	\$465.88	\$465.88

LINE#	PART # PART DESCR	PTION	TAG	QTY	SELL\$	EXT SELL \$
111	F001-31X31X18-G Linear Corner C	ttoman 31"L x 31"W x 18"H with Glides	M2	1	\$465.88	\$465.88
	Fabric Seat Fin Select Grade-1 Fin Select Abbey Co Fabric Side Fin Select Grade-1 Fin Select Abbey Co Embroidery Opt	sh UNSELECTED lor UNSELECTED				
112	F017-45X31X35-G Linear Lovesea	45"L x 31"W x 35"H with Glides	M2	1	\$855.88	\$855.88
	Select Abbey Co Fabric Seat Fin Select Grade-1 Fin Select Abbey Co Embroidery Opt	sh UNSELECTED lor UNSELECTED				
113	F024-31X31X35-G Linear Corner 3	1"L x 31"W x 35"H with Glides	M2	1	\$1,125.88	\$1,125.88
	Select Abbey Co Fabric Seat Fin Select Grade-1 Fin Select Abbey Co Embroidery Opt	sh UNSELECTED lor UNSELECTED				
114	F016-22X31X35-G Linear Chair 22	L x 31"W x 35"H with Glides	M2	1	\$502.94	\$502.94
	Select Abbey Co Fabric Seat Fin Select Grade-1 Fin Select Abbey Co Embroidery Opt	sh UNSELECTED lor UNSELECTED				
M1						
115	F017-45X31X35-G Linear Lovesea	45"L x 31"W x 35"H with Glides	M1	1	\$855.88	\$855.88
	Select Abbey Co Fabric Seat Fin Select Grade-1 Fin Select Abbey Co Embroidery Opt	sh UNSELECTED lor UNSELECTED				

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
116	F024-31X31X35-G	Linear Corner 31"L	x 31"W x 35"H with Glides	M1	1	\$1,125.88	\$1,125.88
		Select Abbey Color Fabric Seat Finish elect Grade-1 Finish Select Abbey Color Embroidery Option	UNSELECTED UNSELECTED Grade-1 UNSELECTED UNSELECTED				
117	F016-22X31X35-G	Linear Chair 22"L x	31"W x 35"H with Glides	M1	1	\$502.94	\$502.94
		Select Abbey Color Fabric Seat Finish elect Grade-1 Finish Select Abbey Color Embroidery Option	UNSELECTED UNSELECTED Grade-1 UNSELECTED UNSELECTED				

			SUBTOTAL FOR	MEDIA CEI	NTER:		\$70,410.38
CORR	IDOR						
C15							
118	752 Zee cou	nter stool on a 4-leg base.		C15	15	\$349.65	\$5,244.75
	Select your chair color. Select your frame finish. Do you want to add upholstery? How do you want to receive your chair? Is this a single chair order? No, more than 1 of this chair will be ordered						
C10							
119	F119-22X31X35-Z Rock'n F	F119-22X31X35-Z Rock'n Roller XL 22"L x 31"W x 35"H		C10	26	\$591.18	\$15,370.68
	Select Grad	eat Finish Grade-1 e-1 Finish UNSELECTE					

LINE#	PART # PART DESCR	IPTION	TAG	QTY	SELL\$	EXT SELL \$
02						
120		nan 18"H with Glides vpe Laminate Top ish UNSELECTED	O2	9	\$575.29	\$5,177.61
	Fabric Seat Fin Select Grade-1 Fin Select Abbey Co Fabric Side Fin Select Grade-1 Fin Select Abbey Co Embroidery Opt Select Seat Hei	ish Grade-1 ish UNSELECTED olor UNSELECTED				
T1						
121	HCWPT 15" x 17" Perso	nal Table	T1	0	\$153.42	\$0.00
	Select Grade 1 Laminate Fin Select Edgeband Co Paint Grade Optio	ons Grd L1 Standard Laminate ish Undecided LAMINATE Option Undecided EDGE Option P1 Paint Opts undecided PAINT Option				
C4						
122	8030 FULLY UPH CI	HAIR W/FIX WD BASE	C4	16	\$613.03	\$9,808.48
	10-Textile Select 02FABF A 02-Seat Seams & Tex 10-10 Seat Upholst 10-Textile Select 02FABF	tile Standard Seams ery 10-10 Seat Upholstery ion Grade 02Fabric RC UNSELECTED tile Standard Seams ery 10-10 Seat Upholstery ion Grade 02Fabric RIC UNSELECTED RC UNSELECTED RC UNSELECTED				
	50-Base / Leg Fin	ish UNSELECTED ion Steel Cushioned Glide				
01						
123	FK501-17X15X18-Z Log Ottoman 1	7"L x 15"W x 18"H with - 7innered	01	9	\$162.35	\$1,461.15
	Fabric Seat Fin Select Grade-1 Fin Select Abbey Co Fabric Side Fin Select Grade-1 Fin Select Abbey Co Embroidery Opt	ish Grade-1 ish UNSELECTED olor UNSELECTED	3.	j	7.02.00	Ç., 1510

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
C5							
124	F019-67X31X35-0	G Linear Sofa 67"L x 3	31"W x 35"H with Glides	C5	6	\$1,279.41	\$7,676.46
		Select Abbey Color Fabric Seat Finish Select Grade-1 Finish Select Abbey Color Embroidery Option	UNSELECTED Grade-1 UNSELECTED UNSELECTED				
C16							
125	F024-31X31X35-0	G Linear Corner 31"L	x 31"W x 35"H with Glides	C16	1	\$1,125.88	\$1,125.88
		Select Abbey Color Fabric Seat Finish Select Grade-1 Finish Select Abbey Color Embroidery Option	UNSELECTED Grade-1 UNSELECTED UNSELECTED				
T11							
126	HTLMT4272HFR	Preside 42x72 Stdn	g Team Touchdown Tbl w/Footring	T11	1	\$1,230.35	\$1,230.35
	Select Gra Lamina	Select Edge Color ate Chassis Selection	Gr L1 Standard Laminates Undecided LAMINATE Option Undecided EDGE Option Gr L1 Standard Laminates Undecided LAMINATE Option P1 Paint Opts				
C15							
127	751	Zee bar stool on a 4	l-leg base.	C15	5	\$349.65	\$1,748.25
	Se Do you wa How do you want t	lect your frame finish. ant to add upholstery? to receive your chair?					
			SUBTOTAL FOR C	ORRIDOF	₹:		\$48,843.61

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
ADMINI	ISTRATIVE OFFICE						
D3.							
128	H105R3072	72Wx30D Rectang	le Worksurface	D3.	11	\$190.40	\$2,094.40
	Select Select	t Top Laminate Color t Top Laminate Color	Grd L1 Standard Laminates UNSELECTED				
129	HHATB2S2LT	2 Stage 2 Leg Rect	angle T Foot	D3.	11	\$464.33	\$5,107.63
		Select Glide	P1 Paint Opts Undecided PAINT Option Standard Glide Memory Preset				
130	HLSLZ5SC72	60"W External Stiffe	ener	D3.	11	\$58.00	\$638.00
		Select Color Option	Black				
131	H105LCHAT3020S	3 105 SER 30Wx20D	x21.5H HAT Open Credenza no top	D3.	10	\$104.80	\$1,048.00
			Grd L1 Standard Laminates UNSELECTED				
132	H105LC3020BF	105 SER 30Wx20D	x21.5H 2-Drawer Credenza no top	D3.	10	\$238.80	\$2,388.00
	Select Laminate Chassis Select Grade 1 Laminate Finish Select Laminate Front Select Laminate Front Select Grade 1 Laminate Finish Pull Selection Color Selection Lock/Omt Opts Grd L1 Standard Laminates Undecided LAMINATE Option Undecided LAMINATE Option Linear Black Standard Random Key Lock						
C5							
133	F019-67X31X35-G	Linear Sofa 67"L x	31"W x 35"H with Glides	C5	2	\$1,279.41	\$2,558.82
		Select Abbey Color Fabric Seat Finish telect Grade-1 Finish Select Abbey Color Embroidery Option	UNSELECTED Grade-1 UNSELECTED UNSELECTED				
D3.							
134	H105CTHAT6020F	R 105 SER 60Wx20D	HAT Modular Credenza Top Right	D3.	10	\$322.80	\$3,228.00
			Grd L1 Standard Laminates Undecided LAMINATE Option				

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
C3							
135	HIWMM	Ignition 2 Task Mid-	back, ilira back	C3	11	\$281.47	\$3,096.17
		Select Arm Type Select Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar	4-Way Black III UPHOLSTERY Moxie UNSELECTED Black Adjustable Lumbar Standard Base				
D3.							
136	H105302L	10500 Series Perso	onal Wardrobe/Strg Cab 24W 24D 66-5/8"H	D3.	10	\$1,010.00	\$10,100.00
			Grd L1 Standard Laminates Undecided LAMINATE Option				
C4							
137	8030	DRIFT, Side Chair, Base, GLOBAL SE	Fully Upholstered w/ 4 Legged Wood Fixed ATING USA	C4	13	\$672.02	\$8,736.26
	Gra Gra	Orift Back/Arm Textile {10 04} Drift Grade 02 Textile {GR} ded In Grade 02 Textile {FR} Drift Seat Textile {10 10} Drift Grade 02 Textile {GR} ded In Grade 02 Textile {FR} Drift Leg Finish Drift Leg Finish {50} Drift Glide Type {65} Commercial or GSA Offering	Graded in Grade 02 1-Graded In Grade 02 Fabrics				
D3.							
138	SPLH-SYS ⁻ DRKNB	T- Custom Systems D	oor Knob	D3.	2	\$0.46	\$0.92
	Sys	s Door Knob Special Number	Undecided CUSTOM Option				
			SUBTOTAL FOR	RADMINIST OFFICE:	RATIVE		\$38,996.20
HEALTH	u						
D4							
139	91289-XXX	X-XX Mobile Teacher Wo	rkstation II	D4	1	\$625.88	\$625.88
			UNSELECTED Hierarchy Edgeband Colors UNSELECTED				

LINE#	PART#	PART DESCRIPTION	TAG	QTY	SELL\$	EXT SELL \$
140	91290	Optional Modesty Panel 10.3"H x 40"W	D4	1	\$47.06	\$47.06
C6						
141	HITSM	Ignition 2 Task Low-back Stool, ilira back	C6	1	\$302.62	\$302.62
		Select Control Type Select Arm Type Select Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar Select Base Select Frame Color Limited Synchro Tilt Height and Width Adj. Arm Hard Caster 4-Way Black III UPHOLSTERY Moxie Tangerine Black Adjustable Lumbar Standard Base Undecided FRAME Option				
C18						
142	3620-24	Hardwood Leg Couch	C18	3	\$647.06	\$1,941.18
		Dual frame construction with sep		ections		

Dual frame construction with separate base & headrest sections Non-adjustable wedge headrest Solid, natural finish, hardwood legs Paper dispenser included 2" firm foam padding Heavyweight, knitbacked upholstery 250 lbs. load capacity under normal use

SU	BTC	OTAL F	OR HEALTH	:
----	-----	--------	-----------	---

\$2,916.74

MOTHERS								
C4								
143	8030	DRIFT, Side Chair, Fully Upholstered w/ 4 Legged Wood Fixed Base, GLOBAL SEATING USA		C4	1	\$672.02	\$672.02	
		Drift Leg Finish (50) Drift Glide Type (65)	1-Graded In Grade 02 Fabrics Grade 02 Graded in Grade 02					

LINE#	PART#	PART DESCRIPTION	TAG	QTY	SELL\$	EXT SELL \$
T1						
144	HCWPT	15" x 17" Personal Table	T1	0	\$153.42	\$0.00

Laminate Grade Options
Select Grade 1 Laminate Finish
Select Edgeband Color
Paint Grade Options
Select Grade 1 Paint
Value Grade LAMINATE Option
Undecided EDGE Option
P1 Paint Opts
Undecided PAINT Option

		SUBTOTA	L FOR MOTHERS:			\$672.02
TEAC	HER MEETING					
C7						
145	Select Select Caster/G S Select	t Arm Type Armless lide Option Hard Caster Gelect Back Undecided BACK Option Upholstery Gr 1 UPH y Selection Undecided FABRIC Option	C7	24	\$236.08	\$5,665.92
C5		rame Color Undecided FRAME Option				
146	Fabric E Select Gra Select A Fabric S Select Gra Select A Embroic	Sofa 67"L x 31"W x 35"H with Glides Back Finish Grade-1 de-1 Finish UNSELECTED Seat Finish Grade-1 de-1 Finish UNSELECTED bbey Color UNSELECTED dery Option No Embroidery 133 Option No CAL 133 Fire Retardant	C5	6	\$1,279.41	\$7,676.46
Т9						

Т9

6

\$527.65

\$3,165.90

Select Grommet Location
Select Grade
Select Grade 1 Laminate Finish
Select Edge Color
Select Caster/Glide Option
Select Paint Grade
Select Grade 1 Paint
Sel

HMVR-2466G-FX Motivate Table Rect 24Dx66W 2mm Edge Fixed Base

147

LINE#	PART#	PART DESCRIPTION	TAG	QTY	SELL\$	EXT SELL \$
T10						
148	HTLMT4272L	Preside 42x72 Seatd Team Touchdown Tbl	T10	3	\$584.79	\$1,754.37

Select Grommet No Grommets Laminate Top Selection
Select Grade 1 Laminate Finish
Select Edge Color
Undecided EDGE Option Laminate Chassis Selection Gr L1 Standard Laminates Select Grade 1 Laminate Finish Undecided LAMINATE Option

			SUBTOTAL FOR	TEACHER MEETING:			\$18,262.65
ADMIN	I WORKROOM						
T18							
149	HTLD42	Preside 42"Round	Shaped Laminate Top	T18	1	\$207.88	\$207.88
	Selec	Select Grommet Select Laminate	Undecided EDGE Option				
150	HTXLEG	Preside Aluminum	X-Leg	T18	1	\$220.24	\$220.24
			P1 Paint Opts Undecided PAINT Option				
C18							
151	2075NPP		Polypropylene Seat & Back, Std 4 Legged ss 5 High on Floor, 15 High on Dolly, GLOBAL	C18	4	\$153.46	\$613.84
	Stream (^Stream (Stream Plastic Finish {20} m Plastic Back Finish {F1} Stream Frame Finish {45} Glide Type or Caster Type Glide Type or Caster Type Stream Glide Finish {60} mmercial or GSA Offering	UNSELECTED UNSELECTED Stream Bullet Glide or Caster Options P-(STD Frame w/ Bullet Glides UNSELECTED				
			SUBTOTAL FOR	ADMIN WORKROC	M:		\$1,041.96

LINE#	PART#	PART DESCRIPT	ION	TAG	QTY	SELL\$	EXT SELL \$
CONFE	RENCE						
C19							
152	HTLC54168	Preside 168W x 54	D Rectangular Shaped Laminate Top	C19	1	\$1,175.65	\$1,175.65
	Select G	Select Grommet Select Laminate	Undecided EDGE Option				
153	HT29AL168	Preside 29.5H Angl	ed Leg for 168W Top	C19	1	\$1,044.00	\$1,044.00
		Paint Selection Select Grade 1 Paint	P1 Paint Opts Undecided PAINT Option				
T19							
154	151-25C-97A	Proform mesh mid	back, swivel tilt, polished cantilever arms.	T19	10	\$639.53	\$6,395.30
	In stock QS ar Select Do you w Mes Do			ndard).			

		SUI	BTOTAL FOR CONFE	ERENCE:		\$8,614.95
ISS						
D1						
155	UNET7362-EJA Plymouth UNE-T Ju	nior Height Leg Desk	D.	l 8	\$167.01	\$1,336.08
	Edge Band Option Lotz Armor Edge Color Frame Color Option	1.375†Non-marring Glides BackPack Hook Smooth Silver				
D4						
156	91289-XXXX-XX Mobile Teacher Wo	kstation II	D4	1	\$625.88	\$625.88
		UNSELECTED Hierarchy Edgeband Colors UNSELECTED				

LINE # 157	PART # 91290	PART DESCRIPTION Optional Modesty Pa		•	TAG D4	QTY 1	SELL \$ \$47.06	EXT SELL \$ \$47.06
C6								
158	HITSM	Select Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar Select Base	Limited Synchro Tilt Height and Width Adj. Arm Hard Caster 4-Way Black		C6	1	\$302.62	\$302.62
C1								
159	718	17 3/4" Inspiration Va	alue Chair		C1	8	\$60.59	\$484.72
			SU	BTOTAL FOR ISS:				\$2,796.36

		SUBTOTAL FOR ISS:					\$2,796.36	
RECE	PTION							
С3								
160	HIWMM	Ignition 2 Task Mid-	-back, ilira back		C3	2	\$281.47	\$562.94
		Select Caster/Glide Option Select Mesh Color Select Upholstery Upholstery Selection Moxie Select Lumbar	Height and Width Adj. Arm Hard Caster 4-Way Black III UPHOLSTERY Moxie UNSELECTED Black Adjustable Lumbar Standard Base					

	SUBTOTAL FOR RECEPTION:					
CAFE	TERIA					
161	MTSSF-60R- MDPEPC	NPS Mobile EasyFold Table, 60" Round, MDF CORE	9	\$1,040.31	\$9,362.79	

LINE#	PART#	PART DESCRIPTION	TAG	QTY	SELL\$	EXT SELL \$
162	MTSSF-48R- MDPEPC	NPS Mobile EasyFold Table, 48" Round, MDF CORE		2	\$1,008.12	\$2,016.24
163	TGT3048MDPE	NPS ToGo Table, 30x48, MDF CORE		4	\$536.92	\$2,147.68
164	TGT3060MDPE	NPS ToGo Table, 30x60, MDF CORE		14	\$599.51	\$8,393.14
		SUBTOTAL FOR C	AFETER	IA:		\$21,919.85
FREIGH	IT					
165	FREIGHT	Estimated shipping fees.		1	\$12,941.18	\$12,941.18
		SUBTOTAL FOR F	REIGHT:			\$12,941.18
LABOR						
166	LABOR	Delivery, Install, set-up, and trash removal of all products at Platte Purchase Middle School		1	\$50,538.24	\$50,538.24
167	STAIR CARRY (CONTINGENCY)	Charges to stair carry product to 2nd floor if elevator is un		1	\$5,869.51	\$5,869.51
		SUBTOTAL FOR L	ABOR:			\$56,407.75

LINE # PART # PART DESCRIPTION TAG QTY SELL \$ EXT SELL \$

PART DESCRIPTION

GRAND TOTAL

\$499,986.81

Signature: ______Date: _____

SIGNATURE INDICATES ACCEPTANCE OF LAYOUT, PRODUCT AND FINISHES AS SHOWN AND SPECIFIED. BECAUSE OF SCREEN VARIATIONS, FINISHES MAY APPEAR DIFFERENT THAN IN PERSON. PLEASE REQUEST A PHYSICAL SAMPLE FOR APPROVAL OF ACTUAL FINISH AND REFER TO BILL OF MATERIALS FOR COMPLETE FURNITURE SPECIFICIATIONS

LINE # PART # PART DESCRIPTION TAG QTY SELL \$ EXT SELL \$

TERMS & CONDITIONS OF SALE

PAYMENT TERMS:

A deposit of 50% is required with all orders and is due at the time the order is received. Buyer agrees to pay the net balance in 30 days from receipt of invoice. A 10% retainer is optional at the request of the Buyer and with written agreement by the Seller for outstanding punch list items. Retainer is due within 10 days of completion of punch list. Payment by credit card is accepted, but a convenience charge of 3% will be added to the invoice. Buyer agrees to pay a finance charge of 1-1/2% per month on the unpaid balance of each invoice for each month it is past due. This amounts to an average finance charge of 18% on all delinquent invoices. Buyer additionally agrees to pay all expenses, attorney fees and court costs which Seller incurs by reason of Buyer's default or non-payment. Acceptance of delivery constitutes acceptance of the merchandise as delivered. TAXES: Prices may or may not include any applicable sales, use or any other tax. Any applicable taxes will be added to price at the time of invoicing and Buyer agrees to pay same. If tax is not added, payment of tax is the responsibility of the Buyer as due to the receiving State.

TAXES:

Prices may or may not include any applicable sales, use or any other tax. Any applicable taxes will be added to price at the time of invoicing and Buyer agrees to pay same. If tax is not added, payment of tax is the responsibility of the Buyer as due to the receiving State

FREIGHT:

Prices may not include all freight charges. Additional freight charges that will be billed to Seller after the acceptance of this proposal will be so noted. These freight costs will be added to price at the time of invoicing and are the responsibility of the Buyer. Buyer agrees to pay same.

DELIVERY AND INSTALLATION:

In the event that delivery and/or installation is required as a part of the proposal, the following provisions shall apply:

- 1. CONDITION OF JOB SITE The job site shall be clean, clear and free of debris prior to installation.
- 2. JOB SITE SERVICE Electric current, heat, hoisting and/or elevator service will be provided without charge to Seller. Adequate facilities for off-loading, staging, moving and handling of merchandise shall be provided.
- 3. SPECIAL PACKAGING OR HANDLING If special packaging or handling is required that is not contained in the specification, it will be

subject to an extra charge to the Buyer. It is the Buyer's responsibility to notify Seller if any stair carry is required. Buyer agrees to pay any additional stair carry charges if incurred during delivery.

- 4. DELIVERY DURING NORMAL BUSINESS HOURS Delivery, receiving of product at the job site, installation will be made during normal working hours (Monday Friday 8:00 AM 5:00 PM). Overtime work performed at the Buyer's request will be billed at 1.5 times the hourly rate for evenings and Saturday and 2 times the hourly rate for Sundays.
- 5. DAMAGE After arrival at the site, any loss or damage by weather, or trades, such as painting or plastering, by fire or other element shall be the responsibility of the Buyer, and the Buyer agrees to hold Seller harmless from loss for such reasons.6. DELAYS Seller is not responsible for delays in

WARRANTY AND LIMITATION OF REMEDIES:

The only warranties which are provided are those of the manufacturer. The Seller hereby EXPRESSLY DISCLAIMS ALL OTHER WARRANTIES INCLUDING BUT NOT LIMITED TO, THE IMPLIED WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE. Resort to the manufacturer's warranty constitutes the Buyer's exclusive remedy. In any event, no consequential or incidental damages are recoverable from the Soller.

WAREHOUSE AND STORAGE:

Merchandise is ordered to meet specific installation schedules. If the Buyer delays delivery beyond the original agreed installation date, the Buyer will be billed as set forth in the billing provision below, and merchandise will be stored for future delivery.

INSURANCE:

Seller agrees to furnish adequate insurance for products stored in Seller's facilities or in transit in Seller's trucks. Buyer agrees to provide adequate insurance coverage for product that is on-site at Buyer's location including work-in-process, stored materials and finished products.

LINE # PART # PART DESCRIPTION TAG QTY SELL \$ EXT SELL \$

BILLING:

All merchandise will be billed immediately upon delivery unless otherwise provided herein. All direct shipments and C.O.M. charged from factory to Buyer are billed immediately upon shipment notification from the supplier. All merchandise ordered is to be delivered upon receipt of the merchandise by Seller, if Buyer delays delivery beyond the original agreed installation date, for any reason, Buyer will be billed 90% of the total sales price including taxes and shipping cost. The remaining 10% of the total sales price will be billed upon delivery or installation of the merchandise. In addition, if the delivery of the merchandise is delayed for more than 30 days beyond the original agreed installation date, the Buyer will be charged a storage fee of 1 ½% per month of the total sales price including taxes and shipping cost.

ACCEPTANCE:

This proposal for the purchase of merchandise must be approved and submitted to the Seller within 10 days to ensure firm prices, unless otherwise agreed upon. Time is of the essence.

CANCELLATION:

In the event that this proposal is approved and submitted by the Buyer to the Seller and becomes an order, it is understood and agreed that it cannot be cancelled or changed except by written mutual consent.

ANY MERCHANDISE ORDERED AS SPECIAL:

For special installations, products upholstered with specifically chosen colors of fabrics and/or metal colors or specific wood finishes ARE NOT RETURNABLE.

DESIGN:

All design coordinated layouts, equipment suggestions and colors are the exclusive property of Seller and use of them by other parties is prohibited.

SECURITY INTEREST:

Buyer hereby grants to Seller a security interest in all items or goods furnished pursuant to this contract and in the proceeds thereof (the "Collateral"), to secure the payment of all charges hereunder including, but not limited to, the purchase price for all such items or good, costs of storage, and costs of collection including without limitation reasonable attorneys' fees and expenses. In the event of any default, Seller may enter upon the premises where the Collateral is located and immediately repossess same, and dispose of same by private or public sales after five (5) calendar days written notice to Buyer, and the proceeds of such disposition shall be first applied to any attorneys' fees or expenses of collection incurred by Seller and the balance applied to any amounts then owed by Buyer to Seller by reason of goods or services work, labor or material furnished pursuant to this document. By signing below, Customer acknowledges that this contract serves as a security agreement within the meaning of the Uniform Commercial Code (UCC), and Customer agrees that Company may file such UCC financing statements as are appropriate to perfect Company's security interest in the Equipment. In addition to all others rights that it may possess, Seller shall have the right, at any time for credit reasons, or because of any Buyer default or defaults, to withhold shipments, in whole or in part, and to recall goods in transit, retake same and repossess all goods which may be stored with Seller for Buyer's account, without the necessity of taking any other proceedings, and Buyer consents that all the goods so recalled, retaken, or repossessed shall become the absolute property of Seller, as to such default. In the event Buyer is in default of any of its obligations hereunder or of any other obligations to Seller, Seller may, in addition to any other rights or remedies provided for herein or available to Seller at law or in equity: (i) withhold performance of any obligation of Seller hereunder or any other obligation of Seller to Buyer, including delivery and/or installation of any other goods, and (ii) set-off against any amount owed Buyer an amount equal to the damages incurred by Seller arising out of Buyer's default hereunder or under any other obligation of Buyer to Seller.

MEDIATION AND ARBITRATION:

All disputes between the Parties arising out of this Agreement shall be resolved by submission to Mediation on the following terms: The parties shall attempt in good faith to mediate such dispute and use their best efforts to reach agreement on the matters in dispute. After a written demand for non-binding mediation which shall specify in detail the facts of the dispute, and within ten (10) days from the date of delivery of the demand, the matter shall be referred to a mediator selected by mutual agreement. The Mediator shall hear the matter and provide an informal opinion and advice, none of which shall be binding upon the parties, but is expected by the parties to help resolve the dispute. Said informal opinion and advice shall be submitted to the parties within forty (40) days following written demand for Mediation . The Mediator's fee shall be shared equally by the parties. Should any dispute not be resolved by Mediation, the dispute shall be submitted to arbitration in Kansas City, Missouri, pursuant to the rules of the American Arbitration Association

NO OTHER AGREEMENTS:

The parties covenant by their signature hereto and specifically represent that they have read and reviewed this document in its totality and that it sets forth the entire agreement the parties regarding the transaction set forth herein. Specifically, the parties agree there are no other terms, conditions, or agreements, empress or implied, other than those set forth herein except those set forth in the specifications, delivery and installation schedules of the Seller. To the extent that the Buyer has submitted any terms, conditions, or agreements which differ from those set forth in this document, those terms, conditions, and agreements are hereby objected to and rejected by the Seller. The terms and conditions of this agreement cannot be varied except upon the written approval of both Buyer and Seller.